Cll# Resta (horizontal) Nombre:

Resuelve cada problema. Respuestas
1.
1) 3,862 - 92 =
2
2 2,112 - 7 = 3
4,
3 63 - 37 =
5.
4 53 - 49 = >

5 2,652 - 850 =

6) 2,199 - 1,988 =
10.

7) 4,051 - 7 = 11,
12.

8 298 - 131 =

9 33 -8 =

10) 57 - 9 =

11) 962 - 186 =

12) 6,056 - 372 =
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Resta (horizontal) Nombre: Clave De Respuestas
Resuelve cada problema. Respuestas
1 3,770
1) 3,862 - 92 = 3,770
2. 2,105
2 2,112 - 7 = 2,105 3 26
4. 4
3 63 - 37 = 26
5, 1,802
49 53 -49 = 4 > 211
7 4,044
5 2,652 - 850 = 1,802 o 167
9 25
6) 2,199 - 1,988 = 211
10, 48
) 4,051 - 7 = 4,044 11, 776
12 5,684
8 298 - 131 = 167
9 33 - 8 = 25
100 57 - 9 = 48
11) 962 - 186 = 776
12) 6,056 - 372 = 5,684
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Resta (horizontal) Nombre:
Resuelve cada problema. Respuestas
4 167 211 26 2,105
4,044 48 3,770 1,802 25 1.
2.
1) 3,862 - 92 =
3
4.
2 2,112 - 7 =
5.
3 63 - 37 = o
7.
4) 53 - 49 = 8.
9.
5 2,652 - 850 = 10,
6) 2,199 - 1,988 =
) 4,051 - 7 =
8 298 - 131 =
9 33 - 8 =
10) 57 - 9 =
" M odificado 1-10 90|80 70|60 |50]40]30]20[10] O |
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